T

1/N,, dN, /d mean p_[GeV]"

Ratio to ATLAS

= N
N o o NN

=
N

0.8

0.6

0.4

0.2

0.5

13000 GeV pp Z+Je
L Y L L A A B IR T T T /0
B 4o
- <pT> (ATLAS UE in Z production) 3
_ 1=
— m  ATLAS 3%
— —A— Pythia 6.428 370 —s
~ -+ Pythia 6.428 378 1%
— Pythia 6.428 379 —
- 2
- _—D:
H 1z
— — ™
— <

(40)
n Jo

o
I - ™M
— —
— 1.2
- mps
- s,
I -1 C
| — O
— — <
L -1 D
- o
| — 0
— —|o
- 1 &
C /" Bdeg 0

S T U Y S

- | | Y
— N\ 42

1
| —0.5

1 1 | " 1 1 1 1 | 1 1 " 1 " 1
1 2 3

Mean pT/dr] do



	Contents
	Page 1


